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1 A _th_ennodyimrﬁc-cycle- on whjich-_'-pctrol engine works is

¢} -Ot__fo cycle:

- (2) Diesel Icycle

(3) Joule cycle (4) - Rankine cycle
a9 §9 fhw eTRe 9% W v W ¥ 7
B - @) Swa T
e W @ ET

2  The power available on engine crank shaft is

(1) Indicated power
(3) Brake power

99 heh JTFE T SUESH ik

() Yhw afm
(3) % sRE

3 The ratio of the volume of the charge admitted at N.T.P. to the swept volume

of the engine is called

(1) Mechanical efficiency

(3) Overall efficiency

HedAr &
(1) =% =&
(3) A =g

4  Air refrigerator works on
(1) Camot cycle
{3) Rankine cycle
g vslad HRf wean ¥
(1) @FEE T T
G) YeET W W
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@)
@)

)
@)

(2) Air standard efficiency

(4) Volumetric efficiency

GTAL W §5 foeivst ¥ ERE O 7 9§ e srae @ e

@
@)

@)
@)

@
@

Friction power

Total power

ooy g
Fw R

I EF Sl
TN &

Reversed Brayton cycle

Diesel cycle

uﬁafﬁ_aﬁilﬁ’ﬂ'{
A GE W
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5__ | A cotter joint is used to transmit E
(1) Axial tensilc load only
(2) Axial compressive load only

(3) Combined axial and twisting load

(4) Axial tensile load or compressive load
TF Hied wg HEH TROT HWT 57

(1) Haa IE T 9% @

(2) %o ol dfsw AR @

(3) o dEr e "R AR HM

4) @ T AR 91 duE 9 @l

6 A cantilever is a beam whose
(1} one end is fixed and other is free
(2) both ends are free
(3) both ends are fixed
(4) both ends are simply supported

HANET T " ¥ Rraw

(1) % o s=<n 3o 9 o B4 g @ ¥ |
@ o R gw @ ¥ |

() o Rd 99 guodR ¥ )

() < Ry e B ¥

7  Bemnoulli's equation relates
(1) Various forms of energy
(2) Various forces act on fluid

(3) Power developed to torque v v

TE e T Wia BTl ¥

(1) @t & fafe waf &

@ Wa ¥ oW AW fafe= =t &

(@) Sl i T @t § T

(4) BT % way 9 Tem w ufvs ot oo i
81_A] 3 [ Contd...
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8 Vena contracta will be formed
(d = diameter of orifice) |
) at the 'edge. of oriﬁce : _
(2) at the .dist'anlcc'-'a' from the edge of orifice

- (3) at distance '%' from the edge of orifice

(4)' at distance '% ' from the edge of orifice
4 doie @8 9 S ?

(d = T o1 =)

(1) «iRifey & o W

() ofifey & M ¥ 7 P w

() offes & fem ¥ 9 @ W
@) oiffe ¥ femt & 9 g w

9  For a kinematic chain which relation is true ?
(L = No. of links, P = No. of pairs)
() L=2pP-4 @ L=2pP+4
@G L=pP-4 @ L=P+4
JE M o & R P Y @ shm e o ¥ 7
L = =t & gen, P = gt A e
(1) L=2pP-4 2 L=2P+14
B) L=pP-4 @ r=pP+4

16 The requirement of a two piece propeller shaft is

(1) One universal joint (2) A centre support bearing

(3) The shaft to be solid (4) Flange coupling
q S TR WA e & e emavas
(1) w% afmfw ST (2 U T el Sl
(3) TR W T wiey @)  wiw FafET
81 A} | N 4 [ Contd.., 5
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11 -Most commonly used -steering gear box in cars today is-

(1) Rack and pinion typé (2) Worm and worm whéel type

(3) Cam and follower t_ype (4) Worm and nut type

e B H A ¥y wbd @Eier fer sew am |
o S ¥ 7

(1) ias‘crﬁrﬁmmmr-- 2) _Eﬁﬂ'aﬁiﬁ%ﬁrmm
(3) W ¥ wiTAl THEX Bl @ a9 T T YBR &

12 Shock absorber in an automobile is used to
(1) absorb the shock energy
(2) dissipate the energy
(3) increase the energy

(4) provide extra fluid power

T sieriERa ¥ o T w™ ¥ o @
(1) St FEymwor & fod

@ T W =T BA

(3) ool s & fd

(@ ofafE 7= affm ©F a0 &

13 Following are the components of primary ignition circuit of petrol engine

(1) contact breaker, condenser, distributor

(2) contact breaker, ignition coil, spark plug
(3) contact breaker, rotor, spark plug

(4) contact breaker, ignition switchy condenser , .
Wiw o ¥ wafis e R ¥ o ¥
() Fiewe A9, Fou, REFEX

(2) DIEE BT, 3 Disw, WH @

() W SHY, WL, Wb @

() @ X, N REw, TR

81 A] 5 [ Contd...
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14 C'ontactl b_re_aker' point in an igﬁitibx_i c:i_r'cuit_ are generally made of _

(1) Plastic - S @) Sted

‘3) Copper @) Tunsston |
woae Wi ¥ wau frdes feg w0 g ¥
(1) wtes = @) W w

(3) A W @) TEE W

15 The positive plate of a lead acid battery has

(1) P50, @ pb

(3) PbSO, (4) H,S80,
qr ol =0 & e W S ¥

(1) PbO, @ Pp
@) PbSO, @) H,S0,

16 The capacity of battery is determined by the no. of plates per cell and

(1) no. of cells (2) shape of plates

(3) size of plates (4) no. of separators

8 B ww i d@ @A N gEm qw P F § e aew 2w Pt
B W T 7

(1) ¥} & g @ TR R

(3) w&d w U @) [T W e

17 Which equipment is not used in arc welding ?

(1) Electrode holder (2) Electrode
(3) Welding torch | 4) Welding tra.nsfoﬁner
o AT F Fw ww FW A W o ¥ 7
() TEE W @ wWs
() df T o @) AfET R
81.A} . - 6 SRR { Contd...
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18 Wﬁich pfocess is not possible on é'mi_liing' machine 7 -
(1) Key way cutting () Fécing_
- (3) Gea;' éutting ' | (4) Thread (I:utting '
'ﬁiﬁ-ﬁqaﬂﬁwﬁwlmwﬁ% ?
(1) 9l @i HwEen (2)'i‘5ﬁhm
(3) Pt wiew @ g8 @
19 Material used for cutting tool is
(1) Mild steel (2) High speed steel
(3) Wrought iron (4) Cast iron
Carai i S T L e T e o B G R 1 S
(1) 7§ W@ () = W WA
() frest A= (¢) w@al A
20 A bar chart shows
(1) Scheme of material movement in a production process
{2) Relationship among different activities in a production process
(3) Sequence of operation to be carried out to manufacture a product
(4) Progress of work in a production process
sX °rE waPia @t .
(1) SUET T § 9l 9ue B Qe &l
() SUET WHH & SE B A {aitmr wiaeht F e @
() UP SURE @ Sk & & o om ¥ af aen i ufsael
CH R W
(#) JUET WHH & AT wE B YA B
81 A] . 7 . [ Contd...
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21 CPM isan. _

o 63 Activity'_ciri'ented_ technique
@) Event orierited tcc’hﬁiqué' _
(3) Activity and event oriented techhique -
(4) None of the above | _ .
AR e wer @ amdw § 7 | | ';
Q) : _ _ o _
(2) =T emuia
(3) w4 = " e
(4) STEd ¥ ¥ @is &

22 Another name for damper is

(1) Shock absorber (2) Torsion bar

(3) Suspension spring (4) Independent suspension
SR w oo M ¥

(1) oEgE sEivs 2y e ®E

() WA FAF @) @ gy

23  The device which can give a very close approximation of a road test is

(1) Chassis dynamometer (2) Engine dynamometer

(3) Tachometer (4) Engine tester !

% g W s wlEw @ aga oree atmeT i Y, 9w ¥ i

(1) Afm s 2) T =EER

@) e @ o vt |
24 In fitting rings to the taper cylinders, ring gap is measured when ring

located at , _

(1) top of cylinder (2) bottom of cylinder

(3) point of minimum diameter (4) point of maximum diameter

st fufdise & o1 fen o o oot oo omn & s o Rew

el ¥

() s M. . @ Ry owo-

@ TEm eI F Ry W @) otew aw § g w
BLAJ ot 8 [ Contd...
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25 Two fundamental Charging methods are constant voltage and

(1) Constant inductance (2) Constant resistance
(3) Cohstént capacitance | (4) Constant current

& e o Rt ¥, Rex Rwarr 9w |

() Prag s (@) bEw why

(3) Trd il 4) Ta g

26 Match most appropriately the following list items :

I Compressor tester A Checks intake manifold vacuum
I  Tachometer B Checks ignition timing

I Vacuum gauge C  Checks engine RPM.

IV  Timing light D Checks cylinder compression

() I-A, II-C, II-D, IV-B
) 1D, I-A IN-C, IV-B
¢) D, O-C, II-B, IV-A
“4) 1D, U-C, O-A, IV-B

Lt B U T VB G 1

I W Qe A % Aree Palk wig
0 @R | B sfmm =Eim wim

o <gd C S RPM. WG

v et wide D fafdsy dfew @i

() I-A, I-C, IM-D, IV-B
@) ID, I-A, ILC, IV-B
¢) ID, O-C, OI-B, IV-A
# D, II-C, II-A, IV-B

»

27 In petrol engine the high voltage for spark is in the range of

1) 11 kV to 22 kV (2) 5000 V to 8000 V
() 2000 V to 3000 V 4) 440 V to 1100 V
W 99 W W og S ME % 9 s o
) 11 kVH2kVTD (2) 5000 V' & 8000 V &
¢) 2000 V ¥ 3000 V 9& (4) 440 V & 1100 V T%
81 A] o 9. ~[Contd...
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28 Power window in an automobile 15 operated
(1) directly by engme crank shaft
@) directly by ajtemator_
(3) by hand crank
(4) by an electric motor
% olerilane ¥ uiae fe g e ¥
(1) €Y o0 H® W B
(2) AT FIREET T
(3) TW F@ T

4) Frgs " s ]
29 Number of sections in Motor Vehicle Act, 1988 are -

215 @) 216

() 217 4y 218

Hre A arfutrm, 1988 ¥ gw Readt smmd ¥ ¢

1) 215 ) 216

@) 217 @ 218

30 Which physical quantity is derived from second law of thermodynamics?

(1) Enthalpy (2) Entropy

(3) Spectfic heat (4) Latent heat

SurREel % & frem & few dfe i @1 oo om ¥ 2
(1) R 2) wzd

@) fafe @ew @ T9 o

31 What is value of '#' for constant volume process in polytropic process
L] .

PV =C 2 | |
(1) Infinite (2) One
(3) Zero @ Gama (v)

g Wwa PV = Cﬁmwmﬁnwmmﬂm% ?

B T @ T (y)
8L A} 1w - [ Contd...
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32 Wlnch out of the following is equatlon of state for hyperbolic procesq in
thermcdynanncs ? :

| Ty pri=c o ) §=C
3 Pr=cC @ PrY=cC
oyt ¥ afroawy yew A ogen wdien e ¥ § el ¥ ¢
M py?=cC 2) ;zc
(@) pPr=C @ pri=C

33 InIC. engine, for same compression ratio and same heat input which cycle
have highest efficiency ?
(1) Dual cycle (2) Diesel cycle
(3) Otto cycle (4) Same in all cases
FqdET 9 ¥ UM @ AU U9 99N S oEE & oy e od
¥ oo o A @@ waitte S ?
() s« % 2) S~ 9%
() e % @ v ¥ @m

34 In S.I engine if flames are detected between TDC and 45° then cycle is
(1) Partial burn cycle (2) Slow burn cycle
(3) Fast bumn cycle (4) Early burn cycle
THATE. 399 ¥ A o & 4gad ALSLHl uE 45° & Wy ¥ Al 9%
LG
(1) i <=7 =% (2) 9 T T®
(3) o <& H (4) wHYE T TH

35 Retarding spark timing, the possibility of knock in internal combustion
engine will
(1) Increase (2) Decrease
(3) Not take place {4) Not affected
e 39 H Wb 9T @f dlaq W | A0 B Qe ¥ -
1) g & @) =i o
(3) & wE T © (4) Wi ST

81_A] 1| [ Contd...
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If air ﬁxel ratio is mcrea,sed then Whlch emtssmn in mtemal combustlon o
~ engine will be less 7 .

1) HC - N )} co,

@ N0 (@ CHO
ﬁmméwawwiﬁmﬁﬁmumdﬂ SEd g

9 B 7 | ) R
(1) HC - @ co | L
(3) NO | @) CH0 |

37 For maximum power transmission through belt, the ratio of centnfugal
tension and maximum tension should be -

(1 11 @ 12 [
3 13 @ 14 :
Wmﬁmﬁqmm%mmmaﬂ?mm

H U waT ¥ -

(1) L1 (2) 1:2

(3) 13 4y 1:4

383 Which out the following is transmission dynamometer ?

(1) Torsion dynamometer (2) Hydraulic dynamometer

(3) Belt Dynamometer (4) Prony brake dynamometer

e % ¥ @ woon s ¥ 7
(1) e sIEEd (2) wAg sEEE

(@) dw SEEHE (4) WA §% TEEEE

39  Centrifugal tension in belt drive is given by Tp = sz, here V is velocity,

what is unit of ' here ?

(I, kg @ kgm! .

3) kg sec”] @ ig?

T AT ¥ AR T WG Tp=mb2 F I W W

'm Hw OAAE T -

(1) kg fem @ kem !l Pem -l

3) kgsec ! fom ddve-! @) kg2 fem |
81.A] | 12 { Contd...

www.upscstudymaterials.com www.upscstudyr:jnaterials.com



www.upscstudymaterials.com

40 In -machiné design the f;ictor for RS 'series-_is
a e @ 158
3) 178 : - @ 112
wel eifrerea § RS S@en @ o feam ¥
(1) 103 . (2) 1.58
(3) 178 @ 112
41 The designation of a plain carbon steel is 55C4. What is the percentage
of carbon in 1t ?
(1) 4% 2) 55%
(3) 59% @) 51%
UH O $EY WA B AME (95 99 55C4 T a 3N BEd @
wleww @ |
1y 4% 2) 55%
3) 59% 4) 51%
42 If in cotter joint T = tension, ¢ =stress, d = diameter then their
relationship is -
4d 4T
1) T= — 2) G=,[f—
M) 1/1:5 @ —
4T
3y d= 1’——— (4) None of the above
¥i7o]
L] .
W ERX W § =9, o=, d = =9 &, o TH TEY ¥-
4d 4T
1 T=_|— S =_,]—
) — @ J —
47 . .
3) d=}c_<£ @ T ¥ # &
81 A] - 13 | [ Contd...
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IfN modulus of ng1d1ty, K bulk coeﬂicnent of elastlcity, E Youngs
modulus of elasticity then relation between them is -

R o S |  2_ o
_() - K+N C _(-) - K+3N
| 3NK T ok

. E: E_
@ ON+X “) KN

& N = gad@ Uw, K = a6 TORHE Uik, £ = 49 B Yol
IO T oAl AE W Y ¥ - ‘

ONK 3NK
= E=
) K+ N @) K13N
INK ONK
= E=
©) ON+X ® 3K+ N

44 Section of modulus of beam section as shown is -

d
)
€ b >
3 3
bd bd |
1) T ) —~ |
i
2 2 !
bd bd :
3) == 4 24 |
3) ® &) 5
e at il @1 Amiw ¥
. , l .
7 A
!
< b >
3 3
bd bd
1 —_— 2y 2
(1) z ) -
i
2 - . 2 :
bd bd !
3y — 4y — ;
(3) 0 (@) :
81 A] | 4 { Contd... ¥
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45 In the following Mohr's circle the normal stress p, and tangential stress

Pris - - |
P
20
0 |A
< %) = |
< Pl )ll
(1) OQ and PQ (2) PB and PC
(3) OC and OP (4) OP and PC
fm der g A otfheeeq afam@ p, o wel W@ dimw p, @
e % -
P
L 20
o' B C g A
< by
() OQ T& PQ (2) PB @um PC
(3) OC a1 OP (4) OP J PC

46 The length of a column is / It's one end is fixed while other is hinged.
It's equivalent length is -

n 1 2 21
! 1
® 3 @ T

T W Gl was [ ¥ ) e @ R Rey 9w @@ weEr ¥
WA g AR ¥ -

(1 @ 21
5 L £
(3 > €Y -
81 _A] _ 15 . [ Contd...

www.upscstudymaterials.com

www.upscstudymaterials.com

www.upscstudymaterials.com



www.upscstudymaterials.com ' . ' ' www.upscstudymaterials.com

47 One ton of refrigeration in .-:ka min is -'_ )

@ o220 @) 35 o
3 20 _'(4_).__3-10
T T URE %1 A g/ ¥ ¥ -

(1) 200 | (2) 35

(3 210 | @ 310

48 The chemical formula of a refrigerant is CCL,F. It's ASRE number is -

(1) RIO @) Rl
(3) RI2 (4) RI3
Th Wil B TEEE g CCLF ¥ | 39a1 ASRE %9i% & —
(1) RI10 () RU
(3) RI2 | (4) RI13

49 What will be value of tail stock offset to turn a taper of 1 in 12 on a
job of 60 mm length ?

(1) 5 mm (2) 2.5 mm

G) 15mm @) 45 mm | |

TH 60 mm =t S A 1 § 12 3IW 1o & & MU 2ows aimde {

w A ¥ - |

(1) 5 fur @) 2.5 B ‘

3) 15 el @ 4.5 fod }
) 50 In spot welding heat is produced by - .

(1) BElectric cusrent " (2) Chemical reaction

(3) Gas (4) Blacksmith fire *-

Wiz Jed ¥ Hou fhed g B Sl ¥ 2

(1) Feas s @ () ke afhfear &

G) W (@) =eRag Fww @ |
81 A] - . 16 [ Contd.., -

www.upscstudymaterials.com www.upscstudymaterials.com



Www.upscstudymaterials.com . : : _ www.upscstqdymat'erials.com

51 GTAW stands for -
(1)~ Gear Train Arc Welding
. (2) Gas Tusbine Arc Welding
(3) Green Temperature Arc Wélding
(4) Gas Tunguston Arc Welding

wess & fremw ¥ -

(1) PrR 2 o e
Q) N EET ok AfeT
() W TR ah afET
@ I Ieq ag e

52 Poise is unit of -

(1) Pressure (2) Viscosity

(3) Density (4) Vapour pressure
tigw T # 4 feww amm ¥ 7

(1) 3| 2) =

(3) = 4) I% T|

53  Gauge pressure at a place is 75 m water. The value of absolute pressure

head will be -

(1) 76 m water (2) 85.34 m water

(3) 75.34 m water _ (4) 64.66 m water

ol = oo A Tw 75 o uelt § ) 98 W P o oW @ -
(1) 76 A 9FN (2) 8534 ¥ wrl

() 75.34 W UM (4) 64.66 9 I

54 Which device out of the following is used for measurement of flow

velocity ?

(1) Venturimeter (2) Pitot tube

(3) Orifice meter (4) None of above

ﬁﬁ%lf@ﬂﬁ%mgﬁﬁmﬁﬁwasﬁ%wﬁw% ?

@) Fglerd @) fEe =@

¢) otRfwa Wl (4) Swlwm ¥ ¥ B A
81_A] - , 17 3 [ Contd...
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: 55 Energy head in HGL (Hydraullc Gradlent Lme) 1s -

_ (P = Pressure Z Ddtum head W= welght densnty V= ve]ocrcy)
P - | P
_— S —+Z
ORI @ 7

r V2 o
3) W+E+Z - (4) All of above

T T e (QEST) ¥ oel o ¥ —

(P =3[ Z=9"a ¥, W= 91 @, V = =7)

P |

P )
) W ) fV—+Z ‘
P v?
3) W"l‘g"}'z (4) EVLIES| gl

56 Which out of the following is not a method to calculate depreciation ?
(1) Straight line method ~ (2) ABC analysis method
(3) Diminishing balance method (4) Sinking fund method

|
ot ¥ 3 It By T T W e @ A& F 7 \
|
1) ww @ @ @ uwdtd. favew fafy |
() TEEAM 9w fify @ siee Pify fify

57 Which typesof element has highest percentage of total cost in ABC

analysis ? _
1 A @ B
3 C ' (4) None of above :
TR, Rt ¥ A o 3 W @ e TRew 8§ 7
() A - @ B
3 C @ T q B3 T
8LA] 8 - { Contd...
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58

‘In process chart tec;hniqil_e,' following symbol is for
(1) Inspection "~ (2) Operation
(3) Transportation (4) Storage
WEH I q@Ew o T gk fewmr b0
(1) FrdmEmm 2) whawH
(3) vuiEsy . 4) duEw
59 Which is not a operating system ?
(1) Lynex (2) DOS
{3) Unix | (4) MS Office
= & & @ siRiET fem T8 & 07
(1) v 2) siw
®) b @) @ uw sifew
60 Which is a wrong variable in 'C' language ?
(1) goto 2y X1
() Ram 4 T20
A qCawd o e X ¥ -
() goto {2) Xi
3) Ram (4) T20
61 In 'C' language which logical operator means NOT' ?
M 33 @ 1|
3 1 . (4) None of above
'C wm ¥ fhw qfbe wawe @ spf NOT' ¥ 7
() $8 @ I
¢ ! @ T ¥ B T
81 _A] 19
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62 What is use. of gearbox in automobxle 2 _
(1)  Torque change | _ (2 Motnon change

(3) Position change - {4) Time change
Al ¥ R St @1 wiew § -

1) et ofEdw L@ TR wREd

@) Rafy ofmdw @ W

63 Wheel track is distance between -
(1) Front and rear axle
(2) Tyres of front wheel
(3) Clutch and gear box ,
(4) All of above
o ¥ o T g ¥ 7
(1) o oft few Yy & weg
(2) oW ks F T @
() w9 T R W b W q@ | *
@ sRew ' |

64 The central gear in epicyclic gear box is known as - i

(1} Ring gear (2) Planet gear

(3) Sun gear (4) Internal gear
qremam! R die o diag e & wed ¥ -

(1) =@ fex @ T B

@) T @ et frg

65 Which property of electrolyte is important for charging state of battery ?

(1) Temperature - (2) Pressure

(3) Chemical composition (4) Specific gravity

aﬁaﬁaﬁwawaﬁaaﬁﬁ%g&aﬂw%fﬁgﬁmww

ot ¥ -

1) "wmw @) == !

(3) TEEtE oW @ fafiee
81 A1 L 20 {Contdl, {

www.upscstudymaterials.com WWW. upscstudymaterlals com



www.upscstudymaterials.com

66 Which type of reflector is used in head light of automobile ?

67

68

(1) - Spherical - © () Hyperbolic
(3) Parabolic (4) . Rectangular

m#%aﬁﬁmmmwmﬁ.u@ﬁm% P

() e (2) sfuaeaEr
(3) AT (4) TIHR

What is meaning of TDC with reference to automobile ?

(1) Tuming direction clockwise
(2) True dead centre
(3) Top dead centre

(4) Tuming direction counter clockwise

aideme ¥ AW w1 oof ¥ -
() =M1 @ suieass

2) g ¥ X

(3) 4T T VX

(4) T EREE BE=! whaEd

Meaning of brake bleeding is -

(1) Repair of leakage of braking system
(2) Removal of water from braking system
(3) Removal of air from braking system
(4) None of above

i e w ok ¥ -

() R o F o & AF we
() FHT qoreR d aEr aex Fem
() FT TR F s Wl P
¢ T F wg T

81 A] 21
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69 Which of the followmg is the propery of a thermodynannc system ‘7

_ (l) Pressure and temperature (@) Internal energy

 (3) Enthalpy and entropy -~ (4)  All of the above

_ﬁm?{@fﬂwwﬁﬁaﬂwm%? o
(1) T@ &R awTE Q) & ot

(B)Wﬁamﬁm-'aﬂwwﬁ--@)mﬁﬁ |

70  During which of the folloWing process does heat rejection takes place in
Carnot cycle ?

(1) Isothermal expansion (2) Isentropic expansion
(3) Isothermal compression (4) Isentropic compression
FEe on ¥ Frefaled e wwd & IOF S @ weTm ¥ O?
(1) u9EdE 9EI (2) o™ TER
(3) THANE ddE @) TI™ ddieT

71 In a Diesel engine, the fuel is ignited by :
(1) an electric spark
(2) the heat of compression

(3) the hot exhaust
(4) hot combustion chamber components

% W SoM N SN Uediwd e s ¥
(1) T faga @ g

(2 wdET B T F A

@) ™ e g

(4) T wE & a9 " T

72 Most suitable combustion chamber for multifuel capability is -
(1) Open combustion chamber

v (2) Bath tub type combustion chamber ,
(3) Pre combustion chamber
(4) M combustion chamber

i 3 g % Y ueife suge @ ww ¥ -
(1) g FE

(2) T 2T YBR F BT BF
¢ Www | - i
4) W T B

81A] L 7. [ Contd...
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73 In order to eliminate knocking in compression ignition” engines, there
~ should be : _ S :

(1) late autb_ignition

(2) low compression ratio |

(3) short delay period

(4) high self ignition temperature of fuel

wlteT Te o ¥ T wE wxy by e amy -
(1) FefSa = T

@ Fr= dfea sgaw

(3) B faataa sty

(@) I B T WA YeaEd AW

74  Which statement is true in context of engine performance curve ?
(1) as engine RPM. increases, mechanical efficiency increases
(2) an engine RPM. increases, friction power decreases
(3) an engine RPM. increases, indicated power decreases

(4) as engine RPM. increased, fuel combustion increases

39 (TR I &% dad § wwar @ud @@ & ?

(1) A 99 RPM. <ol st 3, @ifye @ soal ndr &
(2) WA—F $5 RPM. @odt o &, =i ofdg &9 @ ot ¥ )
() SR-S¥ 97 RPM. wodl ot ¥, g ofe &9 @ ot ¥
(4) SE¥ 99 RPM. <@gt ol 3, $o9 @ @oa st ol ¥

¥
75 A hunting governor is :

(1) more stable (2) more sensitive
(3) less sensitive (4) none of these
e s =i
() e Rex 2 % , (2) = gawl s ¥
(3) &9 gud dar ¥ (4) U0 N ¥ P T8
- 81_A] 23 [ Contd... -
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: 76 For low speed ‘engines, the -cam '..'fclall'dwér ‘should move with -
o (_1)._ Stmple héi‘monic_ mdt’_f’on ' | |
(@) Usiform velocity
3) ﬂniform .acceieration' and retardation -
(@) Cyeloidal motion o

P iy & o ¥g I W @ Ry e W@y - o
(1) @ smEd i |
(2) wHST AT
(3) UH®Y WU TUl Hed

4 uUmERRsE A

77  Stress concentration is caused due to :
(1) ~variation in properties of material from point to point in member
(2) pitting at point or areas at which loads on member are applied
(3) abrupt change of section
(4) all of the above

wioae gigwr B & IO ¥ -

(1) Tl Tz & waed & 7orend & Rifv=r Rigel W ofax
(2) T W AR a0uw Ry 9 W™ E

(3) @z A wew T

(4) ST W

78 The value of stress which causes unit strain is called :
(1) modulus of elasticity (2) unit stress
(3) buk modulus of elasticity (4) modulus of rigidity

it Rl % fm whew &1 99 weamr ¥

(1) YERaT Tons Q) THE VTR
(3) wv WYl Tnm (4) gEam TN
8L A RN : 24 = [Contd...
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79 The neutral axis of the cross section of a beam is that ams at whlch the
bendmg stress is

(1) ’mmlmum - {2) mﬁximum

(3) infimty | 4) zero _
Wm%a@waﬂzmw@ﬁa@wsﬂm%wwamgﬁaa
&1 HE -

(1) =qaaq g ¥ (2) erftaem wan ¥

() o dar ¥ 4) @ e ®

80  Shear stress on principal planes is -

(1) maximum (2) minimum

3) zero (4) none of the above '
YHM AWl 9 quEE gfdaw @ 9 e ¥ -

(1) iftrnem @ =

3) = (4) SWE ¥ q ®5 T8

81 The refrigerant for a refrigeration should have :

(1) high sensible heat (2) high total heat
(3) low latent heat (4) high latent heat j
wemt % fre et ¥ A g |
(1) = G900 S (2) = FT FW=
@) = 1 s (4) T T FA

82 The value of wet bulb temperature dl:ring sensible heating of air : | .
(1) remains constant (2) increases
(3) decreases (4) none of the above
g % G99 A & W omd wew a9 # AW
1) R wewr ¥ @ W ¥
() =@ ¥ @ wRF ¥ ¥ B &

81 A] 25 . [ Contd...
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83 ‘na p'sychro'metric proéess the sensible heat added is 30'ka$éc 'and.thé _
latent heat added is 20 kasec ‘The senSJble heat factor ior the process o

will be : : _
(1) "0.30 o (2) 0,67 |
(3) 0.60 . @ 15

Q%mﬁﬁﬁmﬁanﬁaaawmwsecwwm
20 kl/sec ¥ | T WRH BT ol SN YHG W :

(1) 030 (2 067
G) 0.60 @ 15

84 In inventory control theory, the economic order quantity is
(1) average level of inventory i
(2) optimum lot size
(3) capacity of ware house
(4) lot size corresponding to break-even analyses
a5y gl Frgswr o e wen emw ¥
(1) g T #= fwd wY
(2) I=a" @9 AN
() us WEM™ W Far
@ wo-3ad faww § @ [ s

85 Work study iS done with the help of . \
(1) process chart (2) stop watch
(3) material handling (4) none of the above
e oregad e A & Rewal wewma & fewm owmar ¥ 2 ’
(1) v enE @) Brm ad @ I
(3) wEW weEE (@) SR H g Bg T
86 Which of the following welding process uses non consumable electrodes? ‘ '
(1) MIG welding (2) Submerged arc welding
(3) Manual arc welding 4) TIG welding
Frafefem F @ Bt AT B vl R Swdr e & S
TR E 2 |
() wWamg sk - (@ o e AT f
() AgeT o RS @ & ond s IR
81_A] R ' - [Contd...
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88

89

The electrodes used in spot. welding have a tip' of -

(1 stainless steel < B (2) - copper

() aluminium C (4) brass

wie AT ¥ T 4 @ whede @ Pu ol A b -
(1) =" gama & () = @

(3) uwgitEm W % Haw @

The cold chisels are made by :

(1) drawing (2) piercing
(3) forging @) rolling

& B fhw uww ¥ T ¥ 7

1) 3ET ¥ @) B

(3) ®ew Y (4 A 9

In ultrasonic machining, the metal is removed by :
(1) using abrasive slurry between the tool and work piece.
(2) direct contact of tool with the work piece.

(3) maintaining an electrolyte between the tool and work piece in a very
small gap between the two.

(4) erosion caused by rapidly recurring spark discharges between the tool
and work piece.

aﬁfeﬁé‘lﬁmﬁwﬁ%%ﬂmwﬁmﬁr%?
(1) o ¥ FEEvs & 9o uEdu T F ITERT A
(2) "R T Frfeve ¥ O @Y wst ¥

(3) o 7 BRfEvE § wer WA ofeR ¥ gy ewwed T T 3Q
(4) VR ¥ FEEE & WA O safdd Wih w@Ew ER 89 Sk

81_A] . .27 : [ Contd...
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99 Out: -of the assumptions hsted below whlch set of assumptlon is used in
derivation of Bernoulli’s equation ? : :

(A)
(B)
(©)

©)

(E)
)
@
€)
)

Frfvfed qies dfaermet ¥ ¥ I wiewenel w1 W T

Fluid flow is frictionless and - Irr;otati_on'al -

Fluid flow is steady

‘Fluid flow is vniform and turbulent

Fluid is compressible
Fluid is incompressible
(A), (C), M

(A), B), (E)

@), D), &)

(&), M), (B)

TS W FARK ¥ YgE v ¥ 7

(&)
(B)
€
D)
(E)
1)
@)
€)
4

WA & WO TAAHEH qAqT ST F
@ W yaw Ry

W B Y9 qaq 9 Oge ¥

T wisT #

TG oS ®

(A), (©), (D)

(&), (B), ()

(B), M), (B)

(A), D), (E)

91 Property of a fluid by which molecules of different kinds of fluids are
attractel to each other is called :

(1) adhesion ' (2) cohesion
(3) viscosity (4) surface tension
mw&mﬁﬁmﬁmm%m%mw@%ﬁ_
g w1 ¥ -
(1) omEe | . {2 dEed
(3) AT @) 7= wE

81 A] ' 28
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92
(1) actual velocity of jet at. vena-contracta to the theoretlcal veloc:ty :
(2) area of jet at vena-contracta to the area of orifice. ,
(3) actual discharge though an orifice to the theoretical discharge.
(4) loss of the head in the orifice to the head of water available at the
exit of the orifice.
oz w1 wkwy e, oguE g ¥
(1) War & 991 F@i W awes 97 qon dwifas v N
(2) TER @& 991 @9 T dhw adr e aeww o
() fmw ¥ Tow T awibe W dwite Prewa §
@ g ¥ AW wf qm R &% Fom o uell & sowes ofd &
93 Cooling system is most effective and simplified while engine is :
(1) in front of vehicle
(2) behind the vehicle in right side
(3) behind the vehicle in left side
{4) in the middle of vehicle
IR § 39 B v Rty § s’haaﬁwﬁaa@ramrﬁammmﬁ
B ¥ ?
(1) 9=T ® ol
(2) I”T H 9D IRY TWH
@) T& 9 W I T
(4) et & He A o
94 Interlocking mechanism of gear selection mechanism is provided for :
(1) easy shifting of gears
(2) ensuring that only one gear engaged at a time
(3) locking of gear shift while vehicle is parked )
(4) protection and sealing of gear box
e @ doaelt § ok el gl & wEe %
(1) FEd = e fawme
(2 us @y H ww § ey @1 g
(3) @ Wb % ww faw fiee Jee
(4) PrR dfew =1 9@ 9w dwES
81 A} .29 . [Contd...
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'95 The purpose o_f-.a clutch in veh_icie is _-t(.:_e' _

(1) To provide a-linkags, capable of transmitting the maximum engine
torque. S ' . S

(2) To provide a linkage, capable of transmitting the maxirum e_nginé
power. R '

(3) To provide leverage to- the forque produced by engine.

@ To pfoﬁride leverage to the RPM. of engine crank shaft.
A B T B WA F ' ‘.
(1) oty 359 anpl gag =9 §F W & I
2) ofywa W sRm dola W ¥ wem @ T !
() T T I ot H SAfd wew }
@) s‘aﬂafmw%ﬁam.ﬁ.qq.;ﬁaﬁ%mm

96 The crank shaft is suspended from the lower part of the :

(1) crank case (2) cylinder block

(3) oil pan (4) cylinder head

= 4 @ fow gfim & e a9 @ F% o Profm wd ¥ 7
(1) %o &9 : @) Tt wiw

@) W@ W 4 Rt i

97  The gear shift lever in a four wheeler requires two separate motion to shift
gears, out of which the first movement is :
¥

(1) select the synchronizer (2) moves the synchronizer

(3) meshes fhe gears (4) operates the _ciutch

TR R e ¥ P aitads 3g Prr wRads Sows B @ R g
AEEE ¥ T A WA W & e ¥

() wEgeEd w oW (@) s g

(3) e = we (4) T B TV

81 AJ L - .. - [Contd...
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98 Synchromesh unit in gear box facilitate -

(1

To reduce the speed of the meshing gear in comparison to lay shaft

~ as the gear is engaged.

@)
0
)

fimx
(1)

@)
&)

4)

To reduce the speed of the ineéhing gear in comparison to main shaft
as the gear is engaged.

To maich the speed of the meshing gear to that of lay shaft as the

‘gear is engaged.

To match the speed of the meshing gear to the that of main shaft
as the gear engaged.

qag W Riwy 58 g TRE BT § -

¢ fray d@= A9 ¥ 99, e A @ el & vl uly g @
geT ¥ wer Ty

¥ Y g ) & 99, 9w & W@ PR W iy e e @
g F H ¥

v R o= o ¥ §, 9w O w e @ ofy oy e @
I I TG

Wy fex d@w o ¥ @@, W @ @ P o vy gem o d
AW & ¥g

99  Which part of the antomobile tyre is subjected to greatest flexing action?

(1) Bead (2) Shoulder

(3) Tread (4) Side wall

SEHEET AR B G0 77 998 o % WHE 9% &l & 7
1) = (2) 9w

(3) di= 4) wd tuia

196 Clausius ineqilality is -

as as
1) J—T—SO ) j?zo
d dl )
SN @ [Fso
TG TG F T § 7
ds as
® [5=0 @ [==0
di al
@) J~]-9->0 @ J?QSO
81 _A] 31 ' [ Contd...
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